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The newly appointed Managing Director of LM.E. is
(a) Kristalina Georgieva (b) Christine Lagarde
(c) Raghuram Rajan (d) Surjit Bhalla

The National Programme launched on October 10
2019 by the Indian Government tg encourage
talented children to enrich their skills is

(2) LAKSHYA (b) PRATIBHA
(c) DHRUV (d) PARIVARTAN

Match List — I with List — I and select the correct
answer from the codes given below the lists :
List - I List - II

A. Thomas Cook 1. Recipient of
Bharat-Bharati Award

B. Greta Thunberg 2. Hong Kong Leader

C. Dr. Usha Kiran 3. Environmental
Activist

D. Carrie Lam 4. British Tour and
Travel Company

Codes :

A B C D

@ 1 2 3 4

by 4 2 3 1

0 1 3 4 2

d 4 3 1 2

The 2019 Nobel Prize for Economics was given to
a woman for the second time, name the first woman
who was earlier awarded this prize.

(a) Esther Duflo (b) Gerty Theresa Cori

(c) Maria Goeppert (d) Elinar Ostrom

Rural Sanitation Strategy launched by Ministry of
Jal Shakti in September 2019 relates to which of the
following periods ?
(a) 2019-2035
(c) 2019-2022

(b) 2019-2029
(d) 2019-2024

Central Institute of Indian Languages is located at which
of the following places ?
(a) Varanasi

(c) New Delhi

(b) Mysore
(d) Shimla

India aims to achieve land degradation neutrality
by the year

(a) 2025
(c) 20358

(b) 2030
(d) 2040
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Which Geosynchronous Satellite Launch Vehicle
was used by ISRO to launch Chandrayaan-2 space
craft ?

(a) GSLV - MK III - M1

(b) GSLV-MK Il -M2

(¢) GSLV-MKI1V -M8

(d) GSLV-MKV -M4

Which of the following statements about India’s
largest Charkha is/are true ?

1. Tt was inaugurated in Noida.

2. It is made of used plastic waste.

Select the correct unswer from the codes given below :
Codes :

(a) Only 1

(c) Both 1 and 2

(b) Only?2
(d) Neither | nor 2

Which of the following organisms has white blood ?
(a) Lizard (b) Cockroach
(c) House bug (d) Mosquito

Nitrogen fixing bacteria make combination with cells
of the roots of

(a) Pulses
(c) Wheat

(b) Rice
(d) Sugarcane

What happens when some charge is placed on a
soap bubble ?

(a) Its radius increases
(b) Its radius decreases
(c) The bubble collapses
(d) None of the above

Which of the following pairs is NOT correctly
matched ?

(a) Oxytocin
(b) Aspartame
(c) Neoprene
(d) Rayon

Hormone
Synthetic sweetner
Specialized rubber
Modified starch

Which of the following substances is NOT a protein ?
(a) Cotton

(b) Hair

(c) Spider silk

(d) Hoof

8.

10.

11

12.

13.

14.
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-2 3t ae At w0 o fre gaa g e
FrfieRma TR YA A & S fen A 7
(a) GSLV = MK IIl - MI

(b) GSLV — MK II - M2

(¢) GSLV - MK IV - M8

(d) GSLV-MK V -M4
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- time 1n
A liquid remains hot or cold for i)igﬂ(ﬁ gain of
thermos flask because there 1s no
heat by
(a) Conduction o
(b) Convection and radiation
(c) Both (a)and (b)
(d) None of the above

Which of the following glands in human I?<)dy act; t;Oth
as a endocrine gland as well as an exocrine gland ?

(a) Adrenal gland

(c) Pancreas

(b) Lacrimal gland
(d) Thyroid

Which one of the following materials contains
calcium ?
(a) China clay

(b) Corundum
(c) Gypsum

(dy Tale

Which one of the following is NOT correctly
matched ?

(Substance)

(Use)
(a) Silver bromide artificial
photosynthesis
(b) Silver iodide artificial rain
(c¢) Lithium bicarbonate treatment of
rheumatism
(d) Milk of magnesia antacid

Tulsi plant has medicinal v
of the following

alues due tq the presence
(a) Inorganic Acid

(b) Organic Acid

(c) Phenols and Flavonoidg

(d) None of the above

What is true aboyt €Cosystem 9

(a) Primary consumers are |

producer c4st dependent upon

(b) Primary consumers gre out-
(¢) Producers dré more thay,
d) Secondary consu

With reference to Eutroph ication

ftatements is/are correct ?

Itisa Phenomengp of nutyj

A 1ent €nrichment of a
dissolved 0x

Select the correcy answer uz'igen Of the water
elow : "8 the codeg given
Codes ;
(a) 1 only
b
(©) Both ] and 2 Edi §Oply
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The environment modified by human activities is
called

(a) Natural environment

(b) Anthropogenic environment
(c) Urban environment
(d) Modern environment

Which of the following statement is NOT true ?
(a) Species diversity increases from equator
towards poles.

(b) Tropics harbour more species than temperate
areas.

(¢) Greatest biodiversity occurs in Amazonean rain
forest.

(d) Species diversity decreases from temperate
areas towards poles.

Which one of the following is the well known
example of bioindicator of air pollution ?

(a) Lichens
(c) Rose plant

(b) Methyl mercury
(d) Sunflower

Which of the following is NOT correctly matched ?
(a) Desalination Sea water
(b) Reverse osmosis Potable water
(c) Denaturation Proteins

(d) Pasteurisation Tea

Which of the following is an example of herbicide ?
(a) Sodium chlorate

(b) Potassium permanganate

(c) Bleaching powder

(d) None of the above

The gas, which is emitted in the paddy fields and
increases the earth’s temperature is

(b) Carbon dioxide

(c) Carbon monoxide (d) Methane

(a) Nitrogen

At which of the following places is the Secretariat
of the International Solar Alliance (1.S.A) located
at present ?
(a) Paris

(¢) Gurugram

~ (b) New Delhi
(d) New York

22,

o
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we fafafiat | ufefda wataon wgem 2
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(c) ‘J‘a‘ﬁWﬁW
(d) Y qafe

e i A PR-m e A& & ¢

(2) sERE & a3 fa fafaea A gfg
Bt R 1

(b) Isvrfeay, i gat A swen sfuw
anferl @ ane@ 2d @ |

(¢) farameran Safafauar smeH aut =i # wwh
I |

(d) fafaferean s &= & gai i 3R wedt
Sl B |

forferfiaa § & FH-a1 agIgyer < e qoh
w1 IRrg IR B 7

(a) ATFHTH (b) et TRt
(c) TAE &H WA (d) TG HT I
frafafea 8 & FF-w ad gafera 7df 2 7
(a) ITAFATNH L EIE]

(b) W wrET EPERH

(c) Toeftemm Firic

(d) uTEg{reRT EIp|

TerfciEn & - T e SR R 7
(2) WfETm weilte

(b) Trefirm utme

(c) wefifem q8er

(d) ST d § HIS A&

T, ST U % B Y I o & an i F
e § afg w8, 97 2

(@) TTEEIH (b) e SRATHITS
(c) e HFITFARE  (d) A

Sl R wred (Mg .n.) N afeEed
A § frefafaa e wam v @ @
(a) A (b 7§ feg!

(c) TeI™ (d) =

Downloaded from: http://studymarathon.com/



NJL-1-19

29.

30.

31.

32.

33.

The First Union Territory of India to run 100 percent
on solar energy is

(a) Andaman-Nicobar
(c) Diu

(b) Chandigarh
(d) Puducherry

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : There is a positive relation between
Human Development Index (HDI) and Sustainable
Development Goals (SDG) ranking of Indian State.

Reason (R) : The underlying dimension of SDG targets
are closely related to education and health aspect.
Select the correct answer from the codes given below :
Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(A) is true, but (R) is false

(A) is false, but (R) is true

(b)

(©)
(d)

Multidimensional poverty index includes :
i. Health
ii. Education
iii. Living Standard
Select correct answer from the codes given below :
Codes :

(a) Only i is correct
(c) Only i and ii are correct (d) i, ii and iii are correct

(b) Only ii and iii are correct

Arrange the following events in chronological order
of their commencement and select correct answer

from the codes given below :
1. Wild Life (Protection) Act

II. Biological Diversity Act
III. Project Tiger
IV. Project Elephant
Codes :

(a) I IL I IV

(c) IL LIV, I

(b) LIIL IV, II
(d) ILILLIV

Under the Civil Registration System (CRS), it is
legally mandatory to register birth and death events
within how many days in India ?

(a) 15 days (b) 21 days

(c) 26 days (d) 30 days

-6-
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36.

37.

38.

National Family Health Survey (NFHS) — 5 does
not include

(a) High blood-pressure (b) Diabetes

(c) HIV Test (d) Registration of death

The Environmental Kuznets Curve (EKC)
shows the relationship between per capita GDP
and environmental 10ss. What is the shape of
Environmental Kuznets Curve ?

(a) Inverted ‘U’ shaped (b) Inverted V' shaped

(c) Inverted ‘L’ shaped (d) None of these

Given below are two statements, one is labelled as

Assertion (A) and the other as Reason (R).

Assertion (A) : Sustainable development is
ant for well being of human society.
Sustainable development is a
ts the needs of the
the ability of future

import

Reason (R) :
kind of development that mee
present without compromising
generations to meet their own needs.

Select the correct answer from the codes given below :

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true, but (R) is false

(d) (A) is false, but (R) is true

Which of the following Direct Benefit Scheme
(DBS) has been recognized by the ‘Guinness Book
of World Record’ as the world’s largest Direct
Benefit Scheme ?

(a) MGNREGA

(b) PAHAL

(c) NSAP

(d) None of the above

Wi?h reference to the National Food Security Act,
which of the following statements is/are correct ?
I. Tt will cover upto 75 percent rural and 50 percent
urban population.
1. Special focus on nutritional support to women
and children.
III. Eldest woman of above 18 years age will be
head of household.
Select the correct answer using the codes given
below :
(a) Tand II are correct  (b) II and III are correct

(¢) LI and II are correct (d) None of these

34.

35.

36.

37.

38.
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40.

41,

42.

With reference to the measures of Tenancy Reform
in India, which of the stalements is/are correct ?

I. Regulation of rent
2. Security of tenure
3. Confirment of ownership on tenants

Select the correct answer using codes given below :

(a) 1only

(b) I and?2only
(c) 2and 3 only
(d) 1,2and 3

With reference to the functions of Public Sector
in India, which of the following statements is/are
correct ?

I. To provide public utility resources

II. To build social and economic overhead capital
III. To ensure balanced regional and sectoral growth

IV. To pursue egalitarian goals

Select the correct answer using the codes given
below :

(a) I, IT and III are correct

(b) II, TII and I'V are correct

(c) LI, III and IV are correct

(d) I, 1l and IV are correct

In the Suez canal region, the correct order of lakes
lying from North to South direction is
(a) Lake Timsah — Little Bitter Lake — Great
Bitter Lake — Lake Manzala
(b) Great Bitter Lake — Little Bitter Lake — Lake
Timsah — Lake Manzala
(¢c) Lake Manzala — Great Bitter Lake — Little
Bitter Lake — Lake Timsah
(d) Lake Manzala — Lake Timsah — Great Bitter
Lake - Little Bitter Lake

Telegraphic Plateau is a part of
(a) North Atlantic Ridge

(b) South Atlantic Ridge

(¢) Indian Ocean Ridge

(d) None of these

-8-
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Match List — I with List — IT and select the correct
answer using the codes given below the lists :

List — I List — 11
(Different name (Country)
of tropical cyclone)

A. Willy-Willies 1. Philippines
B. Taifu 2. Australia
C. Baguio 3. Japan
D. Hurricanes 4. USA.
Codes :

A B C D
(@ 3 4 1 2
) 2 3 4 1
€ 1 3 2 4
d 2 3 1 4

Which one of the following cities is NOT located on
the Trans-Siberian rail route ?

(b) Omsk

(d) Chita

(a) Kazan
(¢) Sochi

Which of the following is NOT correctly matched ?

(Wind) (Country)
(a) Santa Ana California
(b) Haboob Sudan
(c) Yamo Japan
(d) Mistral Australia

Match List — I with List — [T and select the correct
answer using the codes given below the lists :

List -1 List - II
(Coal Fields) (Located)
A. Talchir 1. Damodar Valley
B. Karnapura 2. Son Valley
C. Singroli 3. Godavari Valley
D. Singreni 4. Mahanadi Valley
Codes :
A B C D
(@ 4 1 2 3
® 3 2 1 4
cy 2 4 3 1
d 1 3 2 4

|3

it i’i
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47.

48.

49,

50.

Sl

52

Which one of the following peaks is NOT located in
India ?

(a) Gurla Mandhata

(b) Namcha Barwa

(c) Kamet

(d) Nanga Parbat

The winter rains caused by Western disturbance in North
Westem Plain of India gradually decreases from

(a) Eastto West

(b) West to East

(¢) North to South

(d) South to North

In which of the follow

contains fresh water by
lower part 9

(a) Barak river

(b) Luni river

(¢) Ghaggar river

(d) None of the above

ing rivers, the upper course
tsaline water flowing at the

‘Moribund Delta’ js 5 subdijvisj
following Delta ?

(a) Krishna-Godawa
(b) Mahanadj Delta
(c) Bengal Delta
(d) Cauvery Dejy

on of which of the

ri Delta

I, one jg labelleq as

Reason (R).
Asserﬁon A): Sugarcane and

(@) Both (A) and (R) are true and (R)j
explanation of (A)

(b) Both (A)and (R)are true, byt
xplanation of (A)

(c) (A)is true, byt (R)is false
d) (A) s false, by (R) is trye

(R)is not the correct

Which of the following is NOT Correctly Matched 9
:z; Bam. Copper coin |
o Dosal Revenue Collector

w.van €venye Chief
(d) arib

-10.
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(c) Wi et 1 9
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53.

54.

o
()]

56.

Match List — I with List —

i Il and g
answer using the codes gj and select the correcy

) ven below -

) ist—1 List - 11
- Mulla Daud I Chandayan
B. Damodar Kavi 2. Ashiqa

C. S \

N Aorr'm;\;: 3. Padmavat; Katha
- Amir Khusro 4. Rag Vi
i g Vibodh

A B C D

@ 1 3 2 4
® 1 3 4 2
d 1 2 3 4

Who among the following kings had given
patronage to Tansen before Akbar

(a) Raja Ramchandra Singh of Bhata
(b) Rajbahadur of Malwa

(c) Uday Singh of Mewar

(d) Muzaffar Shah of Gujarat

Match List — I with List ~ IT and select the correct
answer from the codes given below the lists :

List - I List — II
(Ruling Dynasties) (Capitals)
A. Pallava 1: Warangal
B. Pandya 2. Kanchi
C. Yadava 3. Madura
D. Kaktiya 4. Devagiri
Codes :

A B C D
@ 2 1 4 3
() 2 3 4 1
c) 1 2 3 4
d 2 4 3 1

ts in a chronological

A the following monumen :
i ) from the codes given

order and select the correct answer
below :
I. Rabia Daurani’s Tomb, Aurangabad

II. Shershah Suri’s Tomb, Sasaram
II1. Humayun's Tomb, Delhi

IV. Atala Mosque, Jaunpur

Codes :

(a) LILIV, I

(c) 1L L I1, IV

(b) IV, IL, TIL I
(d) 01,1V, 1L, 1

11-
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2 y 170
(e - 1@ gAferd Ao i A few
@ wgl IH
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A. geell T34 iammﬂ
c o ) el
C. | 3. wRmerd?
D. st el 4 7 faaty
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A B CD
@ 1 3 2 4
by 1 3 4 2
) 2 4 1 3
@ 1 2 3 4
ﬁm%f@amaﬂﬁéwarma;qgaﬂ@q
FI T ferar 7o
(c) HaTe H 37 8

(d) TSI =T HSTFHT M@

T — 1 e - 18 gk SR i gRE % R
fou 0 e @ =@ 3w g

et -1 gef - 11
(rstereT) (Tr=rerTt)
B. "rugy 2. FH=h
G O 3.
D. Sy 4. ;gnﬁrﬂ
%
A B CD
@ 2 1 4 3
® 2 3 4
© 1 2 3 4
(d) 2 4 3 1
Frerfefien wme o :
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1§ %1 ey ﬁmﬂm
Iv.mq—gﬁa '
Fz. » SR
(a) 1, II, IV, 11

(©) IL L, 1y, v
! ’ II; I
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57.

58.

59.

60.

i hich of the
ith reference t0 Mansabdari system, W hich

\\Y% p
o/are correct ¢

staternents i

|. Mansabdari system was
the state, started by Akbar.

2. A Mans
Select the correct answer

the official nobility of

abdari was hereditary. .
sing the codes given
below :
Codes :
(a) 1 only
(c) 2only

(b) Both 1 and 2
(d) Neither | nor2

Match List = I with List — II and select the correct

answer from the codes given below the lists :

List -1 List - 11
A. Treaty of Allahabad 1. 1782
B. Treaty of Manglore 2. 1784
C. Treaty of Salbai 3. 1769
D. Treaty of Madras 4. 1765
Codes :

A B CD
(@ 4 2 3 1
() 2 4 3 1
c) 4 2 1 3
d 2 4 1 3

Arrange the following events in a chronologicat
order and select correct answer from the codes given
below :

1. Poona Pact

II. Gandhi-Irvin Agreement
I1I. Cripps Mission
IV. Civil Disobedience Movement

Codes :

() Iv, 1, I, I
b O, Iv, I I
(© Iv, I, I, 1
(d) 1, 1, v, I

With reference to the Civil Administration in 1905,
which of the statements is/are correct ?

I. Lord Curzon decided to rearrange the
provincial boundaries.

2. A new province was constituted
s , called East
Bengal and Assam.
Select the cor i y i
ol rrect answer using the codes given
(a) lonly
(c) 2only

(b) Both | and 2
(d) Neither | nor?2

-12-

57.

58.

59.

60.

L S, ....,-'|

e s 3 He AT T T Y,
L eyl e Td % R T d |

m,ﬁamamm|
zmmﬂzmuaﬁ?ﬁml
:ﬁ%ﬁqnﬁfé’iéa‘aﬁmgﬁu;
LI ‘
(a) ¥ | (b) 1323
(c) ad 2 () A@iamAEL
Iﬁﬁ—lﬁwﬂ—llﬁgﬁ%ﬁwm@ﬁé
%:ﬁ%ﬁqmiﬁﬁw@mgﬁq: ‘
-1 et - 11 ‘
A, TelETETe 61 Al 1. 1782 |
B. T it HfY 2. 1784 ‘
C. greeTs & |y 3. 1769 ?
D. g < @ld 4. 1765
£ {
A B CD ,
@ 4 2 3 1
by 2 4 3 1 :
@ 4 2-1 3
@ 2 4 1 3 ‘
ﬁn%f@ﬁmaﬁﬁw@aﬂﬁm@” ?
b 3 A R el § @ wE I I |
I o S
1. mef-3fd Fmsial
1. T foem
IV. | 31as e
%<:
() Iv, 1, I, 1
() I, IV, [, I
(C) IV, H, I, IH
@I, 1 IV, I
L

H@‘:Z‘;’Wl%%ﬁaﬁﬁ,sm-m Y
L. : :

ﬁvh?mﬁlmmaﬁﬁgqﬁm |
A e e e @ w3 g
(a) A | i
(c) e 2
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61.

63.

64.

65.

66,

(D

OO

Who prepared “

pol.itic[;l geadlocls'ti't\sggr:mﬁd]a” 10 remove the
Indian National Congress 2 uslim League and
(a) Jawaharlal Nehpy

(b) Rajgopalachari

(c) Chittaranjan Dag

(d) V.P.Menon

‘The Rise and Growth of Ec

e . onomic Natj iy
India’ was written by ¢ Nationalism in

(a) Partha Sarthi Gupta (b) S. Gopal

(c) B.R. Nanda (d) Bipin Chandra

In whi;h of the following ‘the provisions for the
protection and improvement of environment and
safeguarding of forests and wildlife’ are found in
the Constitution of India ?

(a) Only in the Directive Principles of State Policy
(b) Only in the Fundamental Duties

(c) Both (a) and (b)

(d) None of the above

With reference to Panchayats which of the

statements is/are correct ?

1. Fifty percent seats shall be reserved for the
women of SC/ST categories.

2. Gram Sabha is a body consisting of all persons
living in the village.

3. There will be a Panchayat at intermediate
level.

Select the correct answer using the codes given

below :

Codes :
(a) I only (b) 2and 3
(c) Both 1 and 2 (d) 3only

Mazdoor Kisan Shakti Sangathan (MKSS), a Social
Movement has been associated with which of the
following in India ?

(a) RTE Act

(b) RTI Act

(c) MGNREGA

(d) National Health Mission (NHM)

amme does not

National Social Assistance Progr ‘Below Poverty

include the following scheme for
Line’ households

(a) National Family Benefit Scheme
(b) Annapurna o
(c) Mahila Kisan Sashaktikaran Pariyojna

(d) All of the above

-13-
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Who prepared “C.R. Formula” to remove the
political deadlock between Muslim League and
Indian National Congress ?

(a) Jawaharlal Nehru

(b) Rajgopalachari

(c) Chittaranjan Das

(d) V.P.Menon

‘The Rise and Growth of Economic Nationalism in
India’ was written by

(a) Partha Sarthi Gupta (b) S. Gopal
(c) B.R.Nanda (d) Bipin Chandra

In which of the following ‘the provisions for the
protection and improvement of environment and
safeguarding of forests and wildlife’ are found in
the Constitution of India ?

(a) Only in the Directive Principles of State Policy
(b) Only in the Fundamental Duties

(c) Both (a) and (b)

(d) ‘None of the above

With reference to Panchayats which of the

statements is/are correct ?

1. Fifty percent seats shall be reserved for the
women of SC/ST categories.

2. Gram Sabha is a body consisting of all persons
living in the village.

3. There will be a Panchayat at intermediate
level. :

Select the correct answer using the codes given

below :

Codes : :
(a) 1only (b) 2and3
(c) Both 1 and?2 (d) 3only

Mazdoor Kisan Shakti Sangathan (MKSS), a Social
Movement has been associated with which of the
following in India ?

(a) RTE Act

(b) RTI Act

(¢) MGNREGA

(d) National Health Mission (NHM)

National Social Assistance Programme does not
include the following scheme for ‘Below Poverty
Line’ households

(a) National Family Benefit Scheme

(b) Annapurna

(¢) Mahila Kisan Sashaktikaran Pariyojna
(d) All of the above
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(a) Shad |
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(b) 271 3
(d) a1 3
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Jered, Wi 3 o 3 & frod efa 2 ¢
(a) IR.E3. rfufrm

(b) IM.A.37E. FAfifam

(c) WM (MGNREGA)

(d) TS TR e (NHM)
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67.

68.

69.

70.

71.

72.

Who said ‘India is a Quasi-Federal State’ 4

(a) Lord Bryce (b) Ivor Jannigs
(c) H.J. Laski (d) K.C. Wheare

Arrange the following events in a chronological
order and select the correct answer from the codes
given below ; ‘
1. Maharaja Hari Singh signed the Instrument of
Accession.
II. Constitution of India was enforced. .
IIl. Accession to India ratified by the Sovereign
- Constituent Assembly of Jammu and Kashmir.
IV. New Constitution of the State of Jammu and
. Kashmir came into force.
Codes :
{a) IIIL IV, 11
(c) LLILIIL 1V

(b) I, 1V, 1I
(d) IV, 1L ILI

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : The Supreme Court of India has
exclusive jurisdiction regarding Constitutional
validity of Central laws.

Reason (R) : The Supreme Court is the Guardian
of the Indian Constitution.

Select the correct answer from the codes given

below :

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A)is true, but (R) is false

(d) (A)is false, but (R) is true

National Panchayati Raj Day in India is celebrated on
(a) 26 January (b) 2 October
(c) 21 April (d) 24 April

Which of the following Article was
the 427 Constitution Amendment to
participation of workers in manageme
(a) Article 38
(c) Article 45

inserted by
provide for
nt ?

(b) Article 39A

(d) Article 43A

What is the legal nature of th
Constitution ?

(a) Itis enforceable

(b) Itis not enforceable
(¢) It may be enforced in g
(d) None of the above

€ Preamble of the

pecial circumstanceg

67.

68.

69.

70.

71.

72,
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73.

74.

75.

76.

.

which of the following is correct about the heading
of the Article 162 of the Constitution of India ?

(a) Executive Power of State
(b) Conditions of Governor's Office

(c) Term of the Office of Governor

(d) Extension of Executive Power of State

Which of the following temples is also known as
Khajuraho of Vidarbha ?

(a) Markandeshwar
(c) Manudevi

(b) Kailash
(d) Bhimashankar

Match List — I with List — IT and select the correct
answer using the codes given below the lists :

List - 1 List - II
(Typhoon/ (Most
Hurricane August- affected country)
September 2019)

A. Dorian 1. Bahamas
B. Hagibis 2. China
C. Lekima 3. Jeju, South Korea
D. Mitag 4. Japan
Codes :
A B CD
@ 1 2 4 3
b 1 4 2 3
) 4 2 3 1
d 3 4 2 1

In October, 2019 India announced to establish a
High Commission in which African country ?

(a) Benin
(b) Gambia
(c) Guinia

(d) Sierra Leone

According to NITI Aayog which of the following states

is at the top in the India Innovation Index 2019 ?
(@) Tamil Nadu (b) Maharashtra

(c) Haryana (d) Karnataka

-15-
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75.

76.

71.
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76.
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Which of the following i Correct

) about the heading
of the Article 162 of the Constit

ution of India 7
(a) Executive Power of State

(b) Conditions of Governor‘s Office

(c) Term of the Office of Governor

(d) Extension of Executjye Power of State

Which of the following tem,

Ples is alsg known as
Khajuraho of Vidarbha 9

(a) Markandeshwar
(c) Manudevi

(®) Kailash
(d) Bhimashankar

Match List — I with List —
answer using the codes gj

List -1

IT and select the correct
ven below the lists ;

List - 11

(Typhoon/ (Most
Hurricane August- affected country)
September 2019)
A. Dorian l. Bahamas
B. Hagibis 2. China
C. Lekima 3. Jeju, South Korea
D. Mitag 4. Japan
Codes :

A B C D
@ 1 2 4 3
b 1 4 2 3
() 4 2 3 1
d 3 4 2 1

In October, 2019 India announced to establish a
High Commission in which African country ?

(a) Benin
(b) Gambia
(c) Guinia

(d) Sierra Leone

According to NTTI Aayog which of the following St;tfs
is at the top in the India Innovation Index 2019 ?

(2) Tamil Nadu (b) Maharashtra

(¢) Haryana (d) Karnataka
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(wT/RTR (watfier s 2w
e - 2019)
A. SfEA l. SEmE
B. ¥fweig 2. ¥
C. wfwm 3. 9, SRt
D. fyem 4. WA
% :
A B CD
@ 1 2 4 3
® 1 4 2 3
© 4 2 3 ]
@ 3 4 2 ]

R, 2019 WRa ¥ frm bR 2w F arqr
I TR w0 Y o 2 g

(a) ¥f=

(b) it

() ifn

(@) o fasia

Hic atriT % srER, W § TaTER gEw 2019
4 frafafiad # @S- vow i 2 ¢

(a) dfETg (b) WERTE
(c) g (d) FieH
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79.

80.

81.

82.

&83.

84.

: 2019 book’s
The author of the Booker Prize Winner 20

“Girl, Women, Other" is
if Shafak
(@) Margaret Atwood (b) Elif Shafa

i aristo
(¢) Salman Rushdie (d) Bernadine Evar

Whom did P.v. Sindhu beat to win thg.ﬁrls;
. . Al n
ever Gold Medal for India in Women's Sing

-h ?
Badminton Championship in the final match
(a) Carolina Marin (b) Tai Tzu Ying

(¢) Nozomi Okuhara (d) None of these

Which hydropower plant in Bhutan was inaugur ﬂ.[Cd
recently by Indian Prime Minister Narendra Modi ?

(@) Chhukha Power Plant

(b) Dagachhu Power Plant
(¢) Kurichha Power Plant
(d) Mangdechhy Power Plant

The book ‘Venushilpa’ by Chitracharya Upendra

Maharathi relates 1o which of the following form of
arts ?

(a) Jewellery

(b) Painting
(c) Bamboo art

(d) Marble caryin g

Which among the following wag the first 100 percent
organic state in the world 9

(a) Queensland (Australia)

(b) California (United States of A
(¢) Sikkim (India)

(d) Quebec (Canada)

merica)

Para athlete Deepa Malik,

Who hgg been aw, d
Rajiv Gandhj Khe| Ratna red

Awarg 2019, be]ongs to

the sport
(a) Badminton (b) Discyg throw
(¢) Shot put (d) Weight Iifting

United Nationg Climate Action Sumy

held at which of the fOHOWing Citeg » 112019 yqq
(a) Paris ®) Geney, )

(c) Doha ) New Yor
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86.

87.

88.

89.

Use of polished rice in human diet causeg the
following disease

(a) Beriberi
(c) Night blindness

(b) Goitre
(d) Colour blindness

Which of the followin

which BF £ pairs is NOT correctly
(Vitamin) (Rich Source)

(a) Vitamin B Rice bran

(b) Vitamin B, Cod-liver o

(c) Vitamin E Wheat germ oil

(d) Vitamin K Alfalfa

Given below are two statements, one labelled as

Assertion (A) and the other as Reason (R).

Assertion (A) : Most of the vitamins are not

synthesised in human body.

Reason (R) : Human organs synthesise only

essential micronutrients.

Select the correct answer from the codes given

below :

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A)is true, but (R) is false

(d) (A)is false, but (R) is true

Match List — I with List — II and select the correct
answer from the codes given below the lists :

List -1 List - 11
A. Kevlar 1. Explosive
B. Taxol 2. Synthetic fibre

C. Zinc Phosphide
D. Nitrocellulose

3. Anticancer drug
4. Rodenticide

Codes :

A B CD
(@ 2 4 1
b 2 3 4 1
© 4 3 1 2
3 1 2 4

A sample of any of the following substances
disappears after sometime when exposed to air like
camphor, naphthalene or dry ice. This phenomenon
18 called

(@) Sublimation
() Diffusion

(b) Evaporation
(d) Radiation
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A e A it Ry gy wee % v )
frifeea T &) Sman 2
(a)ﬁ'ﬂé’ﬂ
() GIL|

(b) Huy
(d) auityen

ﬁtr%r%aﬁ%aﬁmmgm@@ﬁaWi?

(fererfm) (T =)
(@) fearfi By UR A (T )
(b) faerfi B, FIE-THd del
(c) faafim E g 3T A
(d) faarfm K TERTEH
T Q w fon e B R o e (A) T
T I T (R) Fe TR |

wUA (A) : A faerfe gma ok § gvefia
T8l fopr 9 €1

I (R) : 99 31 hae e qgeq el
& Syaw F B |

Hra fou e # @ vl sw gl

%
(a) (A)T(R) T HE & 3 (R)FeM (A)H v
T & .
(b) (A) T R)SHT T & g (R)Fo (AR
HE AT TE 3

(©) (A)F& B, fpg (R) Tera B
(d) (A)Tera B, Toheg (R) & R
et - 1 FE - 119 gafera ifg o ghwt F 9D
fou e e & wd I g
et - 1 TR -11
A. FHEAR 1. foopres
B. &ETd 2. Tvifva m
C. ¥ wrowe 3. hud) qa
D. TR 4. VgveAmh
e
A B COD
(@ 2 4 3 |
b 2 3 4 1
) 4 3 1 2
d 3 1 2 4
frefafea o @ et sg SR A g i gen
TG W $5 THE IYET, TS 8 Sl 8 S HE,
AR ITIaT Ih S | 39 TR Y FEd 8
(a) SEAUTH (b) aTSHYRTT
ORE (@) faferom
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90.

91.

92.

93.

94.

95.

The phenomenon used in optical fibre for
transmission of light energy is

(a) Total internal reflection
(b) Diffraction
(¢) Scattering
(d) Refraction

Which of the following statements about

enzymes is/are correct ?

L. They are biocatalysts.

2. They perform their action on the site where
they are produced.

Select the correct answer from the codes given

below :

Codes :

(a) 1 only

(c) Both 1 and?2

(b) 2 only
(d) Neither 1 nor 2

Mother’s milk provides almost complete diet to the
new-born, but it lacks the following

(b) Calcium
(d) Potassium

(a) Iron
(c) Magnesium

Arrange the following substances in chronological
order of their first synthesis ir lab :

1. Black gold
2. Fullerene
3. Graphene
4. Kevlar
Select correct answer from the codes given below :

Codes :

’

@l 2 3 4
4 2 3 1
(c)2 4 3 1
@4 1 2 3
Bibliometry is

(a) Function of Library Network
(b) Information Management Service
(c) Information Management Tool

(d) Library Service

Which one of the following is associated with
‘Albedo’ ?

(a) Transmitting power

(b) Absorbing power

(c) Emissive power

(d) Reflecting power

-18-
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90,  SeRTYl el o TRt HIE H AT Fifiby ey

91.

92.

93.

94

95.

¥ 3w g ok S @

(a) qut 3riafeh TEdA

(b) faada

(c) TehroA

(d) Hgada

Tl % g # Prafafad wUE A @ whoy

TR R/E 7

|, 33T I B |

2. A vk § 36 T 9T AT FHE Q¢ @l
Jearfed & 8 |

3 fim g0 Fe @ & IW GAC:

FT

(a) had | (b) %ad 2

() 13AR23gHA (d) I 13T 2

i 21 gl FersiTel <hl T H SRR S Al 8, fg
zai PrafaRed =1 3vE BT 8

(a) T8 (b) Hfcerw

(c) A= (d) drefirm
fr=fafigd eret =1 39 ggeht IR WEvmETen §
GYAYYT & HICHATIER gafedd hif :

1. <A Mes

2. ot

3. ¥

4. HaAR

A9 oy 72 F & 7 I ghe

F:

@1 2 3 4

® 4 2 3 1

2 4 3 ]

4 1 2 3

fersferamag 2

(a) JEAHTE % H1 g
(b) AT WETT T

(c) AT Y&YA Iy
(d) T qar

efried & & - veier & s § 7
(2) 99R wifdq

(b) My wfFy

(c) Jcaaish wifgy

(d) adt i sifay
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96.

97.

98.

99.

With tefgrence to the Deep Carbon Observatory (DCO)
which of the following statements is/are correct ?

1. Itis Global Research Programme to outreach
role of carbon on earth.

2. It conducts field observations of deep
microbial ecosystem.

Select the correct answer using the codes given
below :

Codes :

(a) lonly

(c) Both 1and2

(b) 2only .
(d) Neither 1 nor2

Which of the following is NOT correctly matched ?
(a) Cartagena Protocol Biosafety
(b) Stockholm Convention Persistent
organic pollutant
(c) Montreal Protocol - Ozone layer

(d) Kyoto Protocol -~ Save water

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : Maximum number of the species
of butterflies are found in tropical countries.
Reason (R) : Butterflies can not tolerate low
temperatures.

Select the correct answer using the codes given
below :

Codes :

(a) Both (A)and (R) are true and (R) is the correct
explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A)is true but (R) is false

(d) (A)is false but (R) is true

The amount of energy during transfer from one
tropic level to another in an ecosystcm

(a) Increases

(b) Decreases

(¢) Remains constant

(d) May increase or decrease

Which of the following is associated with biological
nitrogen fixation ?

() Red algae
(€) Green algae

(b) Brown algae
(d) Blue-green algae

NJL-1-19

96. gl @A Auwmen (R, F way A fim

97.

98.

. 99.

100.

HyAt § | wE-A1 @ R/E 7

1. ug fTrs sgaun FrfEn et o w6
e ) 5 7GR ¥ R By

2. ug el g wiitfeufed a7 % anfra
et & for R

1 fu 0 ge | wE IT P

I

(a) o 1 (b) a2

() 13t 23Hi (d) @ 13MAE2

freferfga o @ -1 9 gafera i ? 7
(a) HISSAT NI TR

(b) RTHEH FHEH I WA Wguh
(c) AT MRt CIEICARLGl

(d) TR MR T &

1 7o Ry u § RFE T H A (A) T
TG Y HRI (R) FET T |

T (A) : ITRIER ot o feraferal <t ot
watfes dean # 91 9 8 |

0T (R) : Rafert 0 qoaH o T2 © gt 2 |
i Ry w2l # @ T I H =T KT

ag,

(a) (A)TA (R)QH Tt @ (R)FU (A)H
TE A}

(b) (A)TT (R)GHI HEl § Tg (R)FHUA (A)
e SR T R

() (AW & frg (R) e 8

(d) (AT § fhg (R) &R 2

iR o # T O T g o & A
T & FHAT bl |

(a) gt &

(b) wedt @

(c) R w2

(d) 9% gl & I O THdT 8

g § & FH-T ARE TR o @
i ,

(a) o R
(c) BU a1

(b) ¥ T
() Her-gu
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101.

102.

103.

104,

105.

106.

Smog is essentially caused by the atmospheric
presence of

(a) Oxygen and ozone

(b) Ozone and nitrogen

(c) Oxygen and nitrogen

(d) Oxide of nitrogen and sulphur

The ‘Global - 500" Award is given for rare
achievement in which of the following fields ?
(a) Gene preservation

(b) Environment conservation

(c) Population control

(d) Pollution control

Black-hole is

(a) aflight recorder in aeroplane
(b) aspot on the sun

(c) aplace in Antarctica

(d) acollapsed star

The most biodiversity rich area in India is

(@) Gangetic plain  (b) Trans Himalayas

(c) Western Ghats  (d) Central India

Which of the following is a Nodal Institution for
implementation of Sustainable Development Goals
in India ?

(a) Planning Commission

(b) Disinvestment Commission

(c) NITI Aayog

(d) Finance Commission

Arrange the following Committees formed for small
scale sector in a chronological order and select the
correct answer from the codes given below :

I. Nayak Committee
II. Abid Hussain Committee
III. S.S. Kohli Committee
IV. Karve Committee
Codes :
(@) LI 1V, I
(c) IV, 1L I, 111

(b) IIL, 11, 1, 1v
(d) LI I, 1v

101.

102.

103.

104.

105.

106.

LT

gaﬁ(mﬁ)mmmﬁa@ﬁsaﬁﬁqfaf@a
&t Iufeufy & wror B 2

(a) Tl qur IS

(b) 3NN qYT ATFZIH

(c) et T ATgEIA

(d) TN TUT GeHl & HTFET3s

frfafen &t o @ forad geht swafer & fin
“AfRF - 500 TR fomn e & 7

(a) S Eayor

(b) TafeRer TR&TOr

(c) SEE fgau

(d) wgwor R "

-4 g 2

(a) TIARSEN hl ISH &1 TR
(b) T W TH yea

(c) et N v g

(d) fme

uTd g aifires Seffavdr dum & 2
(a) T T HgH (b) g\ fewrerg
(c) wivadt ure (d) 7EY yRg

ﬁﬂ%%aﬁ@ﬂﬁ?-mmmﬁmﬁmagﬁ

N
.

L 99 gfify
II. 37Tfér g8 |ffy

I1I. T&. T4, Freeh afify
IV.

%<
(a) LIL 1V, 11
© IV,1L, 1, 111

() I, 1L, 1, 1v
(d) L1111, 1v
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atch List =1 with List - IT and select the correct
answer using the codes given below the lists :

List-1I List — 11
(Programme) (Launch Year)
A National Programme 1. 1975
for Control oﬁ Blindness
B. Integrated Child Development 2. 1976
Scheme
C. National Leprosy 3. 2005
Eradication Programme
D. National Rural Health Mission 4. 1983
Codes :
A B C D
o2 4 1 3
©) 2 1 4 3
@4 3 2 1

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : The labour force participation rate
falling sharply in the recent years for females in
India.

Reason (R) : The decline in labour force
participation rate is due to the improved family
income and increase in education.

Select the correct answer from codes given below :

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(¢) (A)is true, but (R) is false

(d) (A) is false, but (R) is true

The Dependency Ratio in India is declining
because

(a) Population of 0-14 years is relatively high

(b) Population of 60 years and above is relatively
high

(c) Population of 15-59 years is relatively high

(d) Population of 0-14 years and 60 years and
above together are relatively high

Which of the following Sustainable Development Goal
(SDG) will target to water availability for all and its
permanent management upto 2030 in India ?

(@) SDG-6

(b) SDG-7

(c) SDG-3

d) SDG-9

221-

107.

108.

109.

110.
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e - 19 gt — 11 gl A i gt %
F3 fu ™ F @ 7R IW IR :
Tt -1 e - 11
(@A) (W )

A, iy PR ¥ TS wEE 11975

B. guf=r et fam A 2. 1976
c. Ui Fe3 famon wswn 3. 2005
D. Tt mreior e e 4.1983
EEC:A B C D

@1 2 3 4

b2 4 1 3

©2 1 4 3

@4 3 2 1

£ 3 o Ry e & RFE T R (A) 7
@ i BT (R) &R .
HUA (A) : €T % aut i w & wigenaAl % forg
s <h st <1 U A o @ firree o R
HTT (R) : TR o § guw & R @ gig
¥ @0 @ 79 A & Wil <t i fvee R B |
42 fow g2t § @ 9 IR 1 wAT R

| : .

(a) (A)@T (R) ST T & T (R) T (A)Hl

(b) (A)al (R)SH &l & Tg (R)F (A)H
E =T TE #

(©) (AR B, T (R)TeId B
(d) (A)7Ted &, g (R) TR 2

ayra § fftar 3 a@ (Dependency Ratio) 92 Bl

R Fife

(a) 0-149 hi SEEI AR Al

(b) 60§ 3R T i SHEEA e ARE 3

(©) 15599 i SHEEE GRETE AR 8

(d) 0-14T§ 3 60Ty T rferes i SAEEN
e Jfies 2

fr=ferfiga # @ Si-a1 aq faem @igg (SDG)

WTE #2030 9% wfi & e gt i ey

3N 39 T yEuA ) Al w=um
() WHH-6
(b) @@ & Sfi-7
(c) W A-8
(d) Tg S ft-9
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tof ‘Limit to
ounded the concep

who 09
I. w[h :
11 Groc]ub of Rome

UNESCO
prundtlan

@ Agenda?!
he number of persons who remained unemployed
112 o s major part of the year is called
(a) Usual status unemployment
(b) Daily status unemployment
(c) Weekly status unemployment
(d) None of the above

(b) d Commission

With reference to the Corporate Social Responsibility
(CSR), which of the statements is/are correct ?

1. Companies Act 2014, introduces mandatory
CSR.
2. Companies covered under this will have to

spend atleast one percent of their annual
net-profit in the activities under CSR.

113.

Select the correct answer using the codes given
below :

(a) 1Only
(c) Both 1 and2

(b) 2 Only
(d) Neither I nor 2
114.  Physical Quality of Life Index (PQLI) is
developed by
(a) Morris D. Morris (b) UNDP
(c) Mehbub-ul-Hagq (d) None of the above

115. Whatis the India’s rank in th
(GHI) in 2017 2 ¢ Global Hunger Index

(a) 100th
(c) 104th

(b) 101th
(d) 10s5th

116. Match List —T with List - 11 and select the correct

ansuf-r tusnllg the codes gjven below the Jjstg -
ist - i '
List -
(Vegetation Type) (l;setgioill)
A. i
B' g;a:]%lgss Californig
2. Mcditerranean
ISzea Coasta]
C. Chaparra] o
D. Matorra] Z g‘l)\l}th miis
Codes ; S
A B C p
(@ 2 3 4
b) 4 3 > 1
© 3 4 ] 2
d 4 5 3 1

111,

112

113.

114.

115.

116.

LTI

Fafz A o R TN F T gy
gr fope T o ?

(a) o 36 TH

(b) TR

(©) ﬁgm

(d) TvsT 21
ﬁﬁmﬁﬁﬁmmm
= FE F FHE I

(a) G Feufa STl

(b) 2 feufa St

() aTarfeen feufa SO

(d) IRFT H ¥ HIE TE

FORe GETRE STQIRE (CSR) + G §

i § 3 F-a1 = T /R 7

1. 1 W 2014 H.UE.SIR. F FAHGE w1
feam

2. Fa 3 AT AT < S 1 g
A o T Hfava L E. R, TRt dem |
AT BT

ﬁ@iﬁﬁﬁﬂﬁmmwﬁﬁq:
(a)ml (b) haet 2

() lwa2¢Ht (d) Fa 13T & 2
Wﬁ"ﬂﬁ%mzﬁm (7 . 37
fopereh g fershfra fomam mar 2 ™

@ W@ A (b) g

(©) TRYI-IT-FF  (d) e A 4 B A

WIS T AfSees ' :
3 T ;@W(Gﬁ. . 31E.) 2017

©) 1043t () 105t |
TR 1T 0 g e e i
ﬁm@ﬁﬁaﬁmgﬁ-&: = |
-1 T 11 |
(FFat vahm) (@)
g L Rftan |
oo 2. Yo ada i |
' 3. <ol suf
D.az‘ﬂﬂ 4]%@ !
=
A B C D l
(a) 2 3 1 4 |
® 4 3 1 1
) 3 4 I B |
d 4 2 3 1
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17 Match List — I with Ligt —
answer using the codeg gi

Nulll-l — l()
117, e - 1Rl - 1 gifera B aen wferdi 3 413 fou

II and select the correct
ven below the lists -

List -1 List 1 T F Y A I
| (Countey) (Capital) T -1 el - 11
A. Uzbekistan L. Tashkeny m ()
B. Tajikistan 2. Dushanbe A. FRfrEm 1. T,
C. Kyrgyzstan 3. Bishkek B. drfofere™ 2.
D. Turkmenistan 4. Ashgaba - C. ffifem 3. favrs
Codes : D. ghufE™ 4. HYTEE
A B CD %
@1l 2 3 4 A B CD
SRR
© 1 3 4 2 © 1 3 4 2
@ 1 4 2 3 @ 1 4 2 3

118. Match List — I with List — II and select the correct 118.

@—Iﬁ@—nﬁgﬁ%ﬁﬁmwcﬁﬁ%ﬁﬁq

answer using the codes given below the lists : T 2 ¥ HE W G
List — I List - II g -1 Tt - 11
(Natural Vegetation)  (Region) (ST aeata) (8m)
A. Epiphytes 1. Mediterranean A, i Sefa 1. yEeEETE
B. Acacia 2. Equatorial B. 95 2. YEERER
C. Baobab 3. Sahara C. BEE 3. WgW
D. Cedars 4. Savanna D. TR 4. §aHl
e
Codes A B CD
£ B C D @ 2 3 4 1
@2 3 41 b 2 3 1 4
b 2 3 1 4 © 2 4 3 1
@2 4 31 @ 2 4 1 3
@2 4 1 3

1o, Frerfifia i & F-a T g TR 7

ctly matched ?

119, Which of the following is NOT corTe (SR ()
(Tribe) (Place) (a) ot i 3fer
(3) Pygmy Congo basin by S AMTATS
(b) Angami Nagaland © 9 ST
(c) Ainu Japan (d) Fefe o
(d) Khirghiz ROSAS 23
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statements, oné is labelled as

ther as Reason (R).

120. Given below are two
s become the

Assertion (A) and the 0 o
Assertion (A) : Indian.Oceaner;
Military bases of many big powers.

ol
Reason (R) : There is strong gC_O'POII“C‘guntries'
benefits in Indian Ocean and adjacen

; iven below :
Select the correct answer from the codes given

Codes : - et
(a) Both (A) and (R) are true and (R) is the cor

explanation of (A)

(b) Both(A)and (R)are true, but (R) is not the correct
explanation of (A)

(c) (A)is true, but (R) is false

(d) (A)is false, but (R) is true

121." Which one of the following is the correct sequence of
the hills of Central India located from West to East ?

(a) Maikal, Satpura, Mahadeo and Chhotanagpur
(b) Satpura, Mahadeo, Maikal and Chhotanagpur
(¢) Maikal, Mahadeo, Satpura and Chhotanagpur
(d) Satpura, Mahadeo, Chhotanagpur and Maikal

122, Given below are two statements, one is labelled as
Assertion (A) and the other ag Reason (R).
Assertion (A) : The highest concentration of
Seismic zones lies in Himalayan region in India.
Reason (R) : There are many longitudinal thrust
zones in Himalayas.

Codes :

(a) Both (A) and (R) are true and (R) is the correct
explanation of (A) :

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)

(c) (A)is true, but (R) is false
(d) (A)is false, but (R) is true

123. ‘Imphal Basin’ surrounded by Manipur hils is a
fine example of

(a) Lacustrine plain  (b) Loess plain
(c) Glacial plain (d) Alluyiaj plain

124, Which of the following rivers is f ;
valley drainage ? mous for its fault
(@) Chambal
(¢) Gandak

125. Which one of the follow; .
as ‘Land of Big Gamcs’n?g natural regiong i known

(a) Temperate Grassland
(b) Tropical Monsoon Region
(¢) Hot Desert Region

(d) Tropical Savanna Region

(b) DamOdar

120.

121.

122,

123,

124,

125,

ﬁamm@%&ﬁmﬁ@ﬁmm)mq
1 1 (R) FEl T
%W(A):%?Wm

A3 fon g @ W 3 <

R ot (A e T (R) A “@SW I

Lasll
FF (A) ! FE el T &
(b) W(;)WW(R)MHE‘T%WW(R

o (A) 1 T AT e €
(c) F (A)TEI ¢, %W(R)ﬂg;%
(d) M (A)7Tew 8, fohg R (R)

i forg werfeal &1 ufvew 4@ qd
mﬁﬁéﬁ—m@wmﬁ?
(a) BT, TAYET, HERT 3TN BIRHTTY
(b) Hagel, Hered, Hepret 3R BITHTITR
(c) BT, IETCH, TAGST SN BIRARH
(d) Taggl, HEIeH, BIRANR 37K eprer

Qe R 7§ R o ot e (A) T g
ﬁW(R)ﬁ;% N
HAT (A) : W TETAT ST A 8
femrera & 3 foera 3 |

PO (R) - Ferer 3 i s I i arafr & |
EE

() U (A) AT FHW0I (R) A
m(A)ﬁa@W%Hﬁgmm(R)

(b) W(A)WW(R)MEQ
F(A)H T S T 3 FTgF®)

c) W(A)aa%,%awm)w%
(d) FH (A) 7o &, fohg wRoy (R) gt 3

© TR (1) Gy
(C)%qqaﬁqﬁ—qmm (d)mﬁmm

@ TRy SELC) gé}”
m
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26

with reference to the Hima
the statements is/are correct 9

| The sedimentary rockg of th
Himalayas were foggj| less € greater

7. Marine livings fossils 5, S
sedimentary rocks of lesse Nd in the
m

3. Remains of hur_nan Civilizatiop,
outer or Shivalik Hima]ayaq are found i,

Select the correct answer usi
n
below : & the codes giyep

Codes :
(a) 1and 2 only
(c) 1and 3 only

Han fange, Which qf

(®) 2ang3 only
d 1,2 and 3 yre correct

Given below are two state
Assertion (A) and the other a¢

Assertion (A) : Akbar, lik‘? gﬁ::;r; ](1R). .
regulate the currency of the state, , tried to
Reason (R) : As in Shershah’s currency, the chief
copper coin of Akbar’s time was the Da;n_

Select the correct answer from the codes given below :
Codes :

(a) Both (A)and (R) are true and (R) is the correct
explanation of (A)

(b) Both(A)and (R) are true, but (R) is not the correct
explanation of (A)

(c) (A)is true, but (R) is false
(d) (A)is false, but (R) is true

ments, ope labelled as

Armange the following battles in chronological order
and select the correct answer from the codes given
below :
I. Battle of Sarnal
II. Battle of Bilgram
lI. Battle of Dharmat
IV. Battle of Jajau
Codes :

I
(@ 1, 1, 11, IV (b) 11, III,I;V-IV
(¢) I, 1, I, IV @ 11, L 1L

- he following
With reference to Hath Y0g. which of the

statement is/are correct ?

. Hath Yog was practiced b

2. Hath Yog technique Was a

Sufis. .

Select the correct answer US!
low :

Codes :

(a) | only

(b) 2 only

Nathpanthis-
)l,so adopted by °

iven
ng the codes give

N‘]Il'l - ]‘)

126.%Wqéﬂ%ﬁ%#éuﬁ,ﬁt{f‘af@aﬁa
HH-T1 HH TR R/
L. 7& fermer ) ween wgrt e @9 2
2. Y fewrer ) wg wEE A gl e -sai
& Sfaren fren § | e -
3. wre femrer an R fewrer § wg g
&F a9y i
A few g e § A wd I g
e

(@ FaF 132 (b) Fhaw 2 3l 3

(©) %I 133 (d) 1,2 33w 2

127, 1 Q) %A fu mu ¥ Rl o @ wem (A) sk
1 HRT (R) gl 1 R |
AT (A) : ITHT A WG hl T T5F F foanl %
Yoo ! fFraf| w6 w1 g fen
T (R) : R hI U5 Tgfa & a0F, et &
[ T 0 1 TG TM o |

i fow %@t d @ 7 I % 99w Aifw

(2) T (A) 3T HR(R) 1 L & 71 W
(R) YT (A) Sl Tt =T &
(b) M (A) 3 T (R) T TG § T hRwI (R)
U (A) ! TE =T Td R
(c) R (A) T8 &, g o1 (R) T R
(d) M (A)TIeH &, fohg FR (R) TR R
128. Fr=fafaa 3gi =) T =aferd iR
ﬁﬁmﬁﬁgmﬁm
1. T 1 4§
I1. feremm 1 g
I11. 9T7d 1 I8
IV. S H gg
e :
(@ II, L, 10, 1V (b) II, 111, IV, 1
() I, 11, 1, IV (d I, I, I, 1Iv

129. &3 am & "o # fr=fofad § & wH-w w1
T /e 7
1. €3 AT Mt g ST S |
2. &3 A foman Y gt gt 3 Wt romn o |
e fou gu e & & wdt I g
HE:
(a) Had |
(b) % 2
(c) 1 3R 2gHt
(d) T 13TR2

(¢) Both 1 and 2 Downloaded from: ht

tp://studymarathon.com/
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130,

131.

132.

133.

134.

1-19
Whichone of the following is NOT the characteristics
of “Iqta System’ 9
(@) Iqta was a revenue collection system
(b) Siyasatnamg was the source of information
for Iqta System
(€) Revenue from Igta was directly deposited in
Sultan’s account
(d) Mugti was supported to maintain troops out of
the revenue collected from Iqta
Which of the following is NOT correctly matched ?
(Books) (Writers)
(a) Tabaqat-i-Nagiy; Minhaj-us-Siraj-Juzjani
(b) Tarikh-i-Firozshahi Shams-i-Siraj-Afif
(c) Tughlagnama Ibn Battuta
(d) Humayunnama Gulbadan Begam
In which Year was the ‘Natijve Marriage Act’ passed ?
(a) 1870 (b) 1872
(c) 1874 (d) 1876
Match List — | with List — I and select the correct
answer using the codes given below the lists ;
List -1 List - I1
(Movement) (Year)
A. Pabna 1. 1855-56
B. Eka 2. 1873-85
C. Santhal 3. 1922
D. Tana Bhagat 4. 1914
Codes :
A B C D
@ 1 2 4 3
() 2 3 1 4
€ 3 1 4 2
d 4 3 2 1
Which of the following is NOT correctly matcheq ?
(Event) (Year)
(a) Indian Navy Act 1927
(b) Civil Disobedience Movement 1930
(c) Second Round Table Conference 193]
(d) The Communal Award 1933

130.

131.

132,

133.

134,

IO 0 0

fPrfifaa # @ S~ o R g@a

I hl TE R 7

(b) RN so sraeen 6t T 1w o

(c) ¥ @ THG Toed W1 Goad & @
STt eft

(d) gt ! g | TR T | A vy
usd 9

frefafaa § @ S-w ad gAfRE TR

() (T a@F)
(@) TIHE-T-THE TS -3w R
~SESATHt
(b) THrE-T-fRiemdl e -u- R - s
(c) T ¥ Sl
(d) g Terae S
fea At wre: fiv Wi e ma o
(a) 1870 (b) 1872
(c) 1874 (d) 1876
@—Iﬁ@—llﬁ@%ﬁwaﬁ{lﬂ%ﬁ
%#ﬁéﬁqt@ﬁ%ﬂﬁaﬁtﬁﬁq:
-1 -1
(Q;?Q'ﬁw) q?:ﬁ)
A. T 1. 1855.56
B. @ 2. 187385
C. HT 3. 1922
D. M W 4. 1914
He:
A B C p
@ 1 2 4 ;4
b 2 3 | 4
€ 3 1 4 2
@ 4 3 5
‘*“f@iﬁ)ﬁ@ﬁ—wwmm :

Downloaded from: Hffp://studymarathon.com/
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35

136.

137.

133

* With reference to the Natio

Arrange the following events in a chronological

order and
given below :
1. Appointment of Simon Commission

1. Jallianwala Bagh Massacre
[1I. Mahatma Gandhi’s Dandi March
th of Ferozshah Mehta

select the correct answer from the codes

[v. Dea
Codes :
@ IV, 11, I, 1II
®) 1, o, Iv, I
) 1, m, 1v, I
d) IV, nr, I I

e Officers of the LN.A. was held in

The trial of th
(b) Gwalior Fort

(a) Red Fort, Delhi
(c) Amer Fort, Jaipur (d) Agra Fort

Given below are two statements, one is labelled as

) and the other as Reason (R).

. The Asiatic Society of Bengal
hed in the period of Warren
declined the offer of
d body in favour of

Assertion (A
Assertion (A)
was establis
Hastings and he modestly
Presidentship of that learne

Sir William Jones.
Reason (R) : Warren Hastings was himself a

great scholar and an ardent orientalist who used
to encourage the study of Sanskrit, Persian and

Arabic.

Select the correct

Codes :

(a) Both (A)and (R
explanation of (A)

(b) Both (A)and (R) are true, but
explanation of (A)

(¢) (A) is true, but (R) is false

(d) (A)is false, but (R) is trué

answer from the codes given below :
) are true and (R) is the correct

(R) is not the correct

nal Calendar, which of

tlhc statements is/are correct ?
. The National Calendar of India is
. Vikram Era.
. "fhe National Calendar is a
S anuary 26, 1950.
elect the correct answer usin
elOW s

based on

dopted from

g the codes given

M) 2 only

(@) 1on]
y
(d) Neither 1 nor2

(©) Both | and 2
27-

135. fa=

136.

137.

138.

No’ll'l - 7

He1att @ e | et Hifsu 3h
[ gree s 6 AafE

1. Sferafarer S ECATHIUS

(1. werent it <6 gTUet AT

1v. ftiereme a1 TG

%<

@ v, 1IL 1, I
@ I, 1L v, 1
(c) 1, ML v, 1
(d) 1v, 1L II, I

m.@.q.a;m'mwmmm
(a) @ fohetT, 16 i j

(©) S Ere, S A (d) I
ﬁaﬁwﬁnm%ﬁﬂﬁ@aﬁwm)w

@ ! FA (R) FE e |

HU (A) :mﬁ@mmﬁﬁmaﬁq
%@H%mﬁgﬁaﬁaﬁtmﬁ ¢ Paferem S|
qaﬁmﬁgﬂé@n@mmww

o fear an |

&R (R) aﬁ#%@mm@mmw
Wﬁmwmmﬁaﬁmwﬁé@a,ma
mﬂ%mﬁmﬁﬁmml

4 o gt A @ w9 A

%

(@) (A) I R) 21 @t & ofit R) T A)F
& < §

(b) (A) stk (R) 31 FE &, Frg ®) o (A)
%) ggt AT

© (A)Hﬁ?,ﬁf—@(mmé

) <A)ﬂaﬂé,%ﬁ<maﬁ%

u@adah%éﬁuﬁﬁﬁ—m/amaﬁ%/é?

1.%@&%%#&'@?%%1

z.usaadahﬁmaﬁze,wsoﬁmw%l

ﬁmm@ﬁm@aﬁmgﬁm

(a) a1 (b) A 2

© 13m2dd (@ Ta 13 AE 2
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139,

140.

141,

142.

143.

144,

In which year was accounting separated frm'n
auditing and Comptroller and Auditor General’s
task only remained confined to auditing the
Government Accounts ?

(@) 1975 (b) 1977

(c) 1976 (d) 1981

Who opposed Planned Development in India ?
(2) Mahatma Gandhi (b) Jawaharlal Nehru
(¢) Indira Gandhi  (d) Rajiv Gandhi

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : Article 30 of the Constitution of
India does not define the term ‘minorities’.

- Reason (R) : The Constitution recognises only

linguistic and religious mirorities.
Select the correct answer from the codes given below :
Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

() (A)is true, but (R) is false

(d) (A) is false, but (R) is true

With reference to the federal system in India, which
of the statements is/are correct ?

1. States have no right to secede from the Unjon
under the Constitution of India,

2. Just advocacy of secession will have the
protection of freedom of expression.

Select the correct answer from the codes given
below :

(a) 1only

(c) Both 1 and 2

(b) 2only
(d) Neither 1 nor2

Which of the following is NOT correctly matched ?
(a) Public Health and Sanitation State List

(b) Census Union List
(c) Allocation of seats Second
in the Council of States Schedule
(d) Anti-Defection Tenth Schedule

How many items are there in the 11'%h Schedule of
the Constitution of India ?

(@) 22 (b) 24
() 29 d) 32

-28.

140.

141.

142,

143.

144,

W T

%aaﬁﬁm?ﬁnaﬁmﬁéﬁn(é@‘?ﬁ&ﬂ)a
arer fora T e FeEe T HRTeiE Tie; oy
w1 hae gl Q@ 7 9 ® m o
(a) 1975 (b) 1977

(c) 1976 (d) 1981

e o PR R @1 fady fem e -
(a) WETeHT et (b) STETETETS g%
(c) 3feu mft (d) Tfte e

9 @ T e o € R & A FF (A)m
T& I FHT (R) FET TR | .
U (A) : W WU 1 328G 30 - IHCTHE
Tl wreg @) afeaTRa Td FT @ |

TR (R) - Giwm haer wmTg 3 wififes sreve
Tt I AT YEH wTT R |

A fog 0 2 @ W I g

%e:

(a) (A) 3R (R)GHT Tt & 3 (R) w8 (A)
e AT ®

(b) (A) 3R (R)TH wet & W (R) YA (A) H
E =wen 6 R

(© (A) @& g, g (R) o &

(d) (A) T 8, g (R) @t R

AT QTereh e & geof § Prefiafgg

HH-TT T TR /8 2

1. W dfeem % sita oot = 97 ¥ ave
B 1 iR TE R |

2. 3T €R U SIeT O 90 iRy
T < geen Reptt |

1= o g0 2 A & W s w1 g i
(a) ¥ 1 (b) Fad 2
(c) 1323t

(d T3 13T 2

ﬁw%%aﬁ'éaﬂq—mqﬁgﬁ%aqﬁg?
(2) WIS e w6 o T g
(b) SHTOET

w eh
(4) e ol s
WA % TR 1L s 3§ e R 82
() 22 (b) 24
(C) 29 (d) 32

Downloaded from: http://studymarathon.com/



Nz

I ime Mini
[ wih cference to Prime Minister’s Office (PM0)

5

146

7.

149,

15,

L

i one of the statements is/are correct 9
W :

[t came into existence in 1977,
I.

Sheaded by the Cabinet Secretary.

2, It

et the cOMECLANSEL from the codes given below :
(Codes *

o) OnlY 2 (b) Both I and 2

o Only ! (d) Neither 1 nor 2

‘The provisions of the sixth Schedule of Indian

Constitution are applicable in which of the

following states ?
(b) Sikkim
(d) All of the above

(a) Tripura
c) Nagaland

Which of the following is NOT correctly matched ?
(a) Habeas corpus “To have the

body of’

‘We command’

“To be certified’

‘By what authority’

(b) Mandamus
(c) Prohibition
(d) Quo-warranto

_ The Money Bill is defined in which Article of the

Constitution of India ?

(a) Article 109
(c) Article 111

(b) Article 110
(d) Article 112

. py P.M. Modi
Cross border oil pipeliné lﬂaugﬁra}t\egf ﬂze following

in September 2019 connects whi€
cities ?

(a) Motihari and Amlekhga"j
(b) Darbhanga and Amlekhga™
(¢) Motihari and Kathmandu

(d) None of these

o the
SIFE ‘b)’ rd
1

‘World Heritag® n its

Jai i ’
aipur was listed as . cOmmlttee

UNESCO “World Heritag
Session held in the city
(a) Baku (Azerbaizan)
(b) Bishkek (Kyrgyzsta™
(¢) Istanbul (Turkey)

(d) Marakesh (Morocc®)

NJL-1-19

145 gy wEtem (foman.) & gy b

146.

147.

148.

149.

150.

Srfifad & A FH-91 U T 8/8 7
| g 1977 1 AfGra H 3T |
2. o Tur e @feE B R |

) for o e & W@ IR
G
(a) a2 (b) 132 At

() Fae | (d) T 13T 2

W gfguE @ odt AT & wag™
Prforfad 3 @ fore T B AR & 7

(@ frg (b) Fftem

(c) TTTATE (d) I &l
Pyt 3 4 F-a7 96 GART TR @ 7

(a) S& TeAafTRT 7 %9 fg «id) t®
(b) TS ft FHS

() SRRy 7 ot wfewTEs
(d) rfreRT ToBt ¢ gre A

o i wRa % Gfaue & el FTeRS A
iy frm T @ 2

(a) =BT 109 (b) 3T=a% 110

(c) g 111 (d) I=8E 112

ey 2019 3 FUTHEE AIE gRT Sgatfer HeT-a A
W@ﬁmﬁ%{f@aﬁﬁﬁﬂa‘m‘sﬁﬁﬁﬁsﬁ% ?
(a) AT TN HATHAGTS

(b) ST TAT STHAGIS

(c) HdTEr qe FISHTg,

(d) T & w7

ajﬁﬁﬁsauﬁaaﬁﬁfmsa%%amﬁm
§q43émﬁmﬁﬁwmﬁam’%mﬁ
geteg frn T R 7

(a) TR (ITESTH)

(b) W(Wﬂ)

(c) FEaTES (qohi)

(d) T (D)

o
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